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Met vier van de vijf onderstaande citaten doelt de auteur op hetzelfde. 
1p 23 Welk citaat behoort niet tot deze vier? 

Noteer het nummer van het betreffende citaat op het antwoordblad. 
1 “migrate” (einde alinea 4) 
2 “these defections” (begin alinea 5) 
3 “jumped ship” (einde alinea 5) 
4 “drifting off” (begin alinea 8) 
5 “went elsewhere” (einde alinea 9) 
 
 

Tekst 7  Slaughter of a holy cow 
 

1p 24 Which of the following fits the gap in paragraph 1? 
A For example 
B In fact 
C Nevertheless 
D Therefore 
 
“their side of the bargain” (alinea 2) 

1p 25 In welke zin wordt duidelijk wat “their side of the bargain” inhield? 
Citeer de eerste twee woorden van deze zin. 
 

1p 26 Which of the following is true of paragraph 2? 
A It criticises Downing Street for letting down a high-principled civil 

servant. 
B It demonstrates Sir Richard Packer’s courage in taking a stand against 

the government. 
C It makes clear how Sir Richard Packer came to write his book. 
D It provides a comprehensive summary of Sir Richard Packer’s book. 

 
2p 27 Geef van elke van de volgende punten aan of dit in alinea 5 aan de orde 

gesteld wordt. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 The Major government’s inability to put up a unified front in the face of 

the BSE crisis. 
2 The Major government’s unwillingness to communicate the truth about 

BSE to the media. 
3 The Major government’s unwillingness to accept advice in the BSE 

crisis. 
 

1p 28 Wie wordt bedoeld met “the obstructive mandarin at the ministry”? 
(alinea 6) 
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1p 29 Which of the following contributes to the reviewer’s positive appreciation 
of The Politics of BSE? 
A The clear way in which the author analyses the BSE crisis. 
B The detached style the author uses to describe the victims of BSE. 
C The honesty with which the author examines his own errors of 

judgement. 
 
 

Tekst 8  Cheap in August 
 

4p 30 Geef van elke van de volgende beweringen aan of deze overeenkomt met 
de inhoud van de tekst. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 Mary verblijft in een goedkoop hotel, waarin steeds nieuwe groepen 

schoolkinderen hun intrek nemen. 
2 Mary’s echtgenoot voelt zich net zo min thuis in Europa als Mary zich 

in Amerika thuis voelt. 
3 Mary’s echtgenoot is in Europa om daar onderzoek te doen. 
4 Mary heeft de uitnodiging van een Engelse vriendin om naar een 

vakantieoord te gaan, verzonnen. 
5 Mary neemt het zichzelf kwalijk dat ze haar huwelijk niet genoeg 

waardeert. 
6 Mary hoopt dat ze haar echtgenoot kan betrappen op een 

buitenechtelijk avontuurtje. 
7 Mary’s echtgenoot schrijft haar zo vaak dat het lijkt of hij iets te 

verbergen heeft. 
8 Mary ontdekt dat zij niet op een avontuurtje moet rekenen. 

 
 

Tekst 9  Rotten woods 
 

1p 31 Which of the following is in line with the content of paragraphs 1 and 2? 
In Japan, 
A animal behaviour has taken a dangerous turn due to frequent 

encounters with humans. 
B changes in their natural habitat have driven wild animals into 

populated areas. 
C commercial deforestation has totally exhausted the rich stores of 

timber. 
D the woods need the presence of animals for the sake of their 

ecological balance. 
 


